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R = -1.209e-001 A*A + 4.908e-001 A - 1.261e-002
Coef of Det (r”2) = 0.998357 Curve Fit: Cuadratic
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Concentration Ratio

Response = 6.365e-001 * Ant - 3.841e-002
Coef of Det (r”2) = 0.999425 Curve Fit: Linear
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Response Ratio

1. 5+
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Concentration Ratio

Response = 1.389e-001 * Ant + 2.669e-002

Coef of Det
et hod Nane:

(r"2) = 0.998668 Curve Fit: Linear
Z:\ voasr v\ HPCHEN1\ NSVCA_X\ et hod\ 82X061822\W. M

Cal i bration Tabl e Last Updated: NMon Jun 20 01:31:01 2022

10



Tri chl or oet hene
Response Ratio

0. 75

Oe I I
0 0.5 1 1.
Concentration Ratio

Response = 3.621e-001 * Ant + 8. 369e-003
Coef of Det (r”2) = 0.999894 Curve Fit: Linear
het hod Nane: Z:\voasrv\ HPCHEN1\ NSVCA X\ et hod\ 82X061822W. M
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